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1. BEEROE
(1) FEEIRE
EXMEERR 2,000 2,000 0
AR EZIRFIR 2,000 2,000 0
ZWeE 15,000,000 18,600,000 A 3,600,000
Bh=E 15,000,000 18,600,000 A 3,600,000
ZMHEAE 0 0 0
SZMEAE 0 0 0
FEURA 0 0 0
ZEF R 0 0 0
FEURA 0 0 0
AV 15,002,000/ 18,602,000{ A 3,600,000
(2)BREER

E=X8 14,808,000 14,605,000 203,000
BISERE 158,000 250,000 A 92,000
STEY N 630,000 750,000 A 120,000
=R 250,000 275,000 A 25,000
EHE 662,000 625,000 37,000

X B E 1,250,000 1,250,000 0
ZtE 11,750,000 11,255,000 495,000
ME 108,000 200,000 A 92,000
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FHEMA) FH(B) (A—B)
EHE 2,240,000 2,325,000 A 85,000
BISERE 110,000 100,000 10,000
SNTEY N 150,000 150,000 0
=R 100,000 125,000 A 25,000
ZitE 1,300,000 1,350,000 A 50,000
2EE 100,000 100,000 0
REXBE 150,000 140,000 10,000
LT/ S 10,000 80,000 A 70,000
32 Hh R A 120,000 110,000 10,000
ME 200,000 170,000 30,000
ERERE 17,048,000/ 16,930,000 118,000
S8 % AR AT L MR R 1R A 2,046,000 1,672,000 A 3,718,000
LEIR BRI A 2,046,000 1,672,000 A 3,718,000
2. FENMBBDOE
LI — AR IE R BA EEIRIRAE A 2,046,000 1,672,000 A 3,718,000
—RIERBMEREES 16,644,168 14,972,168 1,672,000
—RIERBIERARES 14,598,168 16,644,168 A 2,046,000
I {EEERMEHRRES 0 0 0
I IERREAEEARIES 14,598,168 16,644,168 A 2,046,000




